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1= How is web (IT) competition different from other types
of competition?

== What do we understand well and what do we
understand less well?

== Some examples about the use of these principles in
concrete situations.
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Threats to competition on the web we do not speak
about any more:

= AOL
1= Microsoft

= standards
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==~ Characteristics of digital industries.

v==" Putting it all together.
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The “characteristics” of digital industries

1= [ncreasing returns to scale.

1= The role of intellectual property.
1= Switching costs.

1= Network effects.

1= Two sidedness.

=" Data.

=== Competition for the market.
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Increasing returns to scale
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Increasing returns to scale

1= Cost decreasing with number of consumers. Engineering is (in
part) a fixed cost:
w» Facebook has less than a thousand engineers to serve a
billion consumers.
w» \WhatsApp has 350 million users and 55 employees.

=" Other industries: steel, electricity, newspapers, television,
movies, music.

=5 Standard economics: IRS requires either regulation,
nationalization or special care from competition authorities.
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Increasing returns to scale in IT

=== On the other hand, in IT, it is possible to grow the “plants”
as demand grows.
——> IRS is less of a threat to competition than for “hard”

industries.

==~ This is not true for mixtures of bits and bricks.

15> In any case enough I[RS to warrant special care by
competition authorities.
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The role of intellectual property.
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Intellectual property

1= Large investments both in terms of physical and
intellectual capital.
1=~ Other industries: pharmaceuticals, automobiles, materials.
== Underprovision of R&D by private entities.
——> Activities with large R&D should be subsidized.
1= This subsidization is principally done by giving monopoly
power through patents.
Problem 1 The development of IT is dependent on government grants
of monopoly power.
Problem 2 Some economists think that in case of software, R&D
already too protected by the patent system.
1=~ On the web itself, most protection of IP done through

trade secrets.
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Intellectual property

— Frontier issue: how do we protect innovation in
el systems? Can we do this through protection of

individual innovations?

Problem 1

Problem 2

0=

11



*NEO B EEE

i MHERRUVHNEROBAICKEAEGZRENVDE,
i MMDEEDOH: R, BEE, TH#
l@ EFEIE]ﬁBF'EH Jiéﬁﬁjmﬁ'ﬁ%(R&D)TQﬁliL/J\&f&%}

C&ET
17 (/ZTA@*EEF%@LJZO’C*%EZE“*%)FE%)

LERRAR! <51/ R—2aVEEDRIIZRES DN
B2 EMN?2BERDURTLIEIZA/R—30F 1R ANE
| ;€9 5LickoT, EULRENKRETES

= ) 2 I,
TEMBZETHETITHNTLNS,

11



Switching costs
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Switching costs

v= It is costly for individual users to change suppliers.

1=~ Other industries: cars, brand of television set, cameras.

=5 Increases the persistence of monopolization and therefore
the incentives to monopolize.

1= Relatively importantin IT and on the web (takes time to
learn how to use a new e-mail client)

w» very difficult to measure;
w» Difficult to disentangle from network effects.
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A static view of the consequences of switching costs

1= Assume that there is an incumbent, and many entrants.
==~ All the consumers have the same switching costs, s.
——> The incumbent can charge s above cost.

Note that the profits of the incumbent are entirely due to
the cost of its clients, not to anything it does.
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But you only get one bite out of switching costs

Switching costs make the profits of the incumbents larger, but
they also make the entrants more aggressive.

If all consumers have the same switching costs, the profits are
the same in one period and in several periods:
=" In the first period, the entrants are willing to give to the
consumers a discount equal to the “value” of “owning” a
consumer.,
——> All the future profits of the incumbent are eaten away
by the necessity to respond to that discount.
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Different switching costs

1=~ Attracting the valuable consumers requires also subsidizing
the less valuable consumers.
——> Consumers with low switching costs are valuable to the
incumbent; even if they do not purchase its goods.
== Profits is greater than one period profit — but less than flow
of one period profit.
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A story
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Some have argued that once a consumer purchases a body of
music from one of the proprietary music stores, they are
forever locked into only using music players from that one
company. Or, if they buy a specific player, they are locked into
buying music only from that company’s music store.
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On average, that’s 22 songs purchased from the iTunes store
for each iPod ever sold. Today’s most popular iPod holds 1000
songs, and research tells us that the average iPod is nearly full.
This means that only 22 out of 1000 songs, or under 3% of
the music on the average iPod, is purchased from the iTunes
store and protected with a DRM.

It’s hard to believe that just 3% of the music
on the average iPod is enough to lock users
into buying only iPods in the future.
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Many iPod owners have never bought anything from the
iTunes Store. Some have bought hundreds of songs. Some
have bought thousands. At the 2004 Macworld Expo, Steve
revealed that one customer had bought $29,500 worth of
music.
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If you’ve only bought 10 songs, the lock-in is obviously not
very strong. However, if you’ve bought 100 songs ($99), 10
TV-shows ($19.90) and 5 movies (549.50), you’ll think twice

about upgrading to a non-Apple portable player or set-top
box. In effect, it's the customers who would be the most

valuable to an Apple competitor that get locked in. The kind
of customers who would spend $300 on a set-top box.
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And we see that Microsoft is probably not trying to attack
Apple's hold on high value consumers in the mobile phone
industry.

Microsoft's strategy “is much more suited for emerging economies, where
there is limited consumer buying power and where smart phones are sold
contract-free,” Mr. Besenius said. “We see Microsoft's mobile strategy

7”7

clearly to be more successful than Apple's” because “it focuses on the low-
end to medium-priced segment.” Although starting from a small base,
Microsoft has made some progress. According to IDC, Windows Phone
was the No. 2 smartphone operating system in nine markets, and shipped
more units than Apple in 10 markets in 2013. (New York Times, 16

February 2014)
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Network effects

Def: People like to communicate with other people.
=5 Other industries: telephone services, social clubs.
——> Stable (?) monopoly.
——> Preferred social arrangement: scared monopolist.

1 Katz-Shapiro (1994): “... the extent of the market
inefficiency is unclear ... there are many possible responses
of systems markets to these problems that involve no
government intervention whatsoever.”

1= On the other hand, network effects look like they are
generating rents to the entity who links agents.
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Dynamic competition with network effects

Same principle as with switching costs: high network effects
make entrants more aggressive.

Monopolies attract entry!

The puzzle of the low price for
Windows.
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What we do not understand about network effects

1= In practice, we believe that network effects constitute

substantial barriers to entry.
w» Maybe because users free ride on who will change
network first.

1= But we do not know how to measure this barrier, and we do
not have a good theory

== And it is easy to overestimate its power (think of the
websites created during the first Internet bubble).

1= For competition authorities: should market share be
computed in eyeballs?

28



YR T—IFHBRIZ DT> TR E

v EBEIZIX, Ry =IO RITE NG S AEREELGH->TLY

LD TIFIELD,

w BTl FYNT—VZERDIZERBLEZIZ(RYE
D—IONBENRIESNSGIO)BEDOENXLIZT-
T-3&\l) (freeride) LTLNB M5 TH S,

1= LA, BRISICDSABERERDIEEZATET HAHEZS

EWL, TOERLEGHRUNE

25@%*%1':7‘;(/\0

= ZLT, RYRT—IUMRZEZEAXICFHMLAETH S (KA

&.\iiﬁ*) o

DAVZ—2Y-NTILOFHIZEoN=V T Y (%
A8

v BEMBIE, YITDOTIEEEREYITAOHEEY

(eyeballs) TEHHEITNEMN?



Two sidedness
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Two sidedness

= The modern way to speak about network effects. Stem from

realization that many platforms link different populations.

= Other industries: night clubs, shopping centers, credit cards.
= On the web: Uber, Amazon, ...
- Each “side” of the market is both a client and an input to be

sold to the other side.

> Same type of monopolization tendencies as for network

effects.

= Challenge for competition policy: one side can be subsidized

if it helps attract the other side.
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“Pseudo-two sidedness”

Facebook: consumers enjoy each other’s company. Advertisers
enjoy the presence of consumers.

The problem of Facebook is to increase the stickiness of the
consumers.

Google: even more extreme. Consumers care about quality of
search. Stickiness comes from quality of results and, maybe,
switching costs. (Plus technological advantage and access to
data.)
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Data

r=5= The digital industry accumulates lots of data on its users
w» in order to provide them with customized services;
" in order to provide other customers with better services;
W in order to “monetize” customers better.

1=~ Other industries: supermarkets; fidelity cards.
——> Reinforces prime mover advantage.

1= Somewhat similar to “learning by doing”.

1= There are debates on the size of this prime over advantage.
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Competition for the market
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Competition for the market

1=~ Many of the characteristics of the digital industry
encourage the creation of monopolies.
=== And monopolies are socially efficient.
—+> No competition.
=" There can be dynamic competition for the market.
"> The greater the profits, the more aggressive entrants
become.
——smaller profits!

35
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Putting it all together
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How stable are web monopolies?

5= There are many theoretical reasons to believe that IT
technologies are very conducive to monopolization and
should be under special scrutiny by competition authorities.

but
=" theory tells us that
a) Monopolies are efficient;
b) If scared of entry they can have limited ability to
extract rents.

and are we sure that monopolization is stable?
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A story

With all the frenzy over the Internet, entrepreneurs have been able
to create and sell companies for huge sums without ever earning a
dime. ... What the company, does have is users. Ultimately, the
buyer hopes to put advertising on the chat service and sell its
members products and services.

Many Internet stock analysts praised the deal as an inexpensive way
for the buyer to increase its customer relationships. ... But there is
some skepticism that chat services, no matter how popular, will turn
into big money makers.

Some observers said that since the buyer now controlled the two
largest chat services it should embrace an open standard that would
allow the user of any chat service to send an instant message to a
user of a competing service, much as electronic mail works now.
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A story
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=5 Firms make mistakes!

== Easy in area were technology changing very fast.
= Firms loose their dominant positions:

AOL;

Alta Vista;

Microsoft;

Netscape;

LS 2% BN A 2 |

next?

Can we rely on future mistakes to control monopoly power?
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Encouraging competition

=5~ Competition on the market
"> standards
w» sharing consumer data
=5~ Competition for the market
= early merger control
= sharing consumer data
= Are these two types of competition really distinguishable?
= Competition for the market usually begins as
competition on the market.
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Analyzing stickiness

Be careful! Different markets function differently — you
need to pay attention to specifics.

1= See examples discussed above of Google and Facebook.
== But by accumulating data, firms are also able to develop
individual stickiness.
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Analyzing stickiness

My phone and tablet carry Apple's
logo, but almost everything | do
with them is routed through the
search company's servers. ...

| also love the handy tricks Google
adds as it learns more and more
about me ... For instance, its Google
Now feature ... can automatically
predict what you are doing next and
show you relevant information like
traffic directions and boarding
passes just when you need them.
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Conclusion
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1= Economists have many tools to analyze competition on

the web and in IT in general.
"> There are also lots of things which we do not understand.

== For each problem, there is a specific way in which these
tools have to be integrated.
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